Chemistry 112

3) Ifa0.05 M solution of a weak acid produces a pH of 5.9, What is K, for this weak
acid?

7) Calculate the molar solubility of barium fluoride (BaF,) in water.
Ky =1.6x10°
Calculate the molar solubility of this compound in an aqueous solution
that is 0.2 M NaF (sodium fluoride).

10)  What is the pH of the following solutions?
a) 0.25 M HNO; b) 0.17 M Ba(OH),



16) What is the concentration of Ca** jon remaining after CaCO3 precipitates when
50.0 ml of 0.10 M CaCl, is added to 50.0 ml of 0.10 M Na,COs? Kj, for
CaCOs is 3.8 x 10”.

What is the pH of a 0.15 M solution of NH3? Kb =1.78 x 107

What is the PH of a 0.15 M solution of NH,*?



INiAS

:
Comdy

[
IR

Chemistry 112

IR BT B
(o 10
Y
3) Ifa0.05 M solution of a weak acid produces a pH of 5.9, What is K, for this weak
‘19 . — o

acid? H At &, Oy = Hs‘oéaﬁ A o X, - Mﬁg’ﬂ
A BOY A ERAS |
005 O o e |
I 0.05 O Il ;\uxl{f‘%lwwwmowﬁ Y l()””\
¢ —-x X +Y ) Ladiiiiniact e = g' ’?L’M,_/

\<C\ - EOO 5/3 -

Az e
k A P U e PR
0.08-1 AU - 6.0%

7 Calculate the molar solubility of barium fluoride (BaF,) in water. /‘5&( (&

=1.6x 10°.
Ky
Calculate the molar solubility of this compound in an aqueous solution o
I8

SN @a +26

-

1] ORI %

that is 0.2 M NaF (sodium fluoride). —= e L
L&jﬁlj Tt ;F(”SO tam fluoride) et on exoum 72 N .
sobd O O — - LH
CE S AN 42X Ks@ = LYo - [Bdﬁ [EY R{_}lﬁ%& (()93’
hd £ » \,\_.;, W.LW ) =
4 % AR \‘@ w10 i~ l:!/\_/:’»‘ » = »
! H
1%0. {z M 2% CZBLO A oW A (158
| soha O oA % 4
P S = S 1A x[@ 2 =

Ead oy oamitd ot = 0ak W

10)  What is the pH of the following solutions?
a) 0.25 M HNOs3 Si*rorr\é b) 0.17 M Ba(OH), Sl*mm% bovas
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16) What is the concentration of Ca** ion remaining after CaCQOs precipitates when
50.0 ml ofO I0M CdClz 1s ddded to 50.0 ml of 0.10 M Nay,CO3? K, for
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